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FHRARN=-((REFHIHEY+FANRE) - (BRARBE-AREEE)) x1/2+40.
=((1.06+0.92)-(1.28-1.23)) x1/2+0,10=1,07
{ERIE EBE=0. 55+ (1.07-0.05) x0.2=0.75

HAKKE PRP ¢ 200

10

a3 B it E = Bl % 8
fEAI (0.55+0.75) X (1.07-0.05) X 1/2 x 0.84 m’ 0.56
AR ((0.55+0.62) X 0.365 X 1/2-0.021) x 0.84 m’ 0.16
BR BERA (0.62+0.75) X 0.565 X 1/2 x 0.84 m’ 0.33
‘s m’ 0.56
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T Tt B 1.0xX%Y No. 1
4 R % = # 2 B fF =
HEEER
Jowvsy 1.00 1.00 | m
HEEER Bi&

Jowv4y  |5emITHEE 1.67x1.00 1.67  {&
BEJLAZIL | t=10mm 0.002x1.00 0.002 m
avH ) — b EFEEY 0.03x1.00 0.03 m

pily EHEEY  0.20%x1.00 0.20 m

HEEE L EHEEY 0.06%x1.00 0.06 m
BEEEE

FEAFO— k300 x 300 4.30+6.90+11. 20+11. 80 = 34.20m

34.20/0. 30 = 114.00 114.00 | m
11.11x34. 20 379.96 #&

REEEESE

AF IOy #E 300 %300 % 60 11.11%x34.20 379.96 |

HEEYIIEL EHEEY 0.08x34.20 274 m

SRETT
R E W=15cm 2.80 2.80  m
SRET

R E W=45cm 0.50 0.50 | m

=]

X E 5 BEREv-) 1.00 | B5FF
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305 (o ck=18N/mm2)
iE Al B % B g = Bul & =
B#&

SEBEERI Y| 5ecmt) T+ 1.00/0.60 & 1.67
BEILZIL t=10mm 0.205 % 0.01 m° 0.002
avs)—k | EFEEY 0.305%0.10 m° 0.03

Eidg o ST 0.10% 2 m? 0.20
BEYREL (EHEEY (0.027+0.205 x 0.01+0.305 X 0.10) X 1.00 m° 0.06
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# Al g g g = Bul & =
REEETSE
FEAFI—H 300x300 1.00/(0.30 x 0.30) # 11.11
REEESE
FEAFT0v4|300%300x% 60 1.00/(0.30 x 0.30) % 11.11
BEYRIEL (EHEEY 1.00 X (0.06+0.02) m° 0.08
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B EMET B = 5 £ 1,04 Y No. 1
% R % it 5 K =1l 2 B =
1TR = 26.10
ITR = 23.30
SIX (ALAIERER) =  16.00
EE 3T (RIS H) = 2090
4T X (FHEXME) = 33.50
ATX (T BEXMHE) = 7.10
st = 126.90  126.90 m
1TR 2.00x26. 10 = 52.20
ITK 2.00x 23. 30 = 46.60
ST (ALEEEE  2.00x16.00 = 32.00
U ST (EMEHE  2.00x20.90 = 41.80
nﬁa‘zﬂ]&ﬁ —
AT (RIERRE)  2.00%33.50 = 67.00
ATR (BRRE)  2.00x7.10 = 14.20
st = 253.80 253.80 m
1TX 0.81x26.10 = 2114
ITK 0.83 % 23. 30 = 19.34
3T (dLEEEE)  1.05x16.00 = 16.80
. 3T (REMIEEHE)  0.85x20.90 = 177
AR L AT (RIERRD)  0.87x33 50 = 2915
ATR (BRE)  1.05x7.10 = 7.46
st = 111.66  111.66
1TR 0.04 x 26. 10 = 1.04
ITK 0.04 x 23. 30 = 0.93
ST (AbfEIEg#ER)  0.05x16.00 = 080
. _ ST (AR  0.04x20.90 = 0.84
&1 pn 4N\ -
A5 £=50mn ATR (RIEXAM)  0.04x33.50 = 1.34
ATR (EBRRE)  0.05x7.10 = 0.36
B = 531 531 m
1TR 0.71x26.10 = 18.53
ITR 0. 80 % 23. 30 = 18.64
STX (L@EEs  1.54x16.00 = 2464
- 3T (RfIEEH)  0.87x20.90 = 18.18
AT (RERER)  0.94x33.50 = 31.49
ATR (EBRRE)  1.52x7.10 = 10.79
&t = 122,27 122.27 o
1TR 1.00% 26. 10 = 26.10
2T 1.00 % 23. 30 = 23.30
STE (L@EEsE)  1.00x16.00 = 16.00
- ST (A  1.00x20.90 = 20.90
BHE  PRP 200 ATR (HEXR)  1.00x33.50 = 33.50
ATR (EBRRE)  1.00x7.10 = 7.10
st = 126.90  126.90 m
1TR 0.68 % 26. 10 = 17.75
2T 0.76 x 23. 30 = 1.7
ST (LEEss)  1.48x16.00 = 23.68
3T (FMEss)  0.83x20.90 = 17.35
j: _
2R RC-30 ATR (EEXR)  0.90x33.50 = 3015
ATR (T BRRE)  1.46x7.10 = 10.37
st = 117.01  117.01 o
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% R 1% it & X E=14 £ Hfi iF E
TR 0.81%26. 10 TRT
ITR 0.83 % 23. 30 - 19.34
3T (L)  1.05x16.00 - 16.80
_ 3T X (FARIEE#R) 0.85x20.90 = 17.77
BET  t100m T SRR 0.87x 3350 - 2915
TR (EBERRE)  1.05x7.10 - 7.4
5 = 11166 111.66
ITK 0.81%26. 10 = 2114
ITK 0. 83 % 23. 30 - 19.34
3T (LR  1.05x16.00 - 16.80
_ 3T (@) 0.85%20.90 - 77
REL A TR (RERRE)  0.87x 3350 - 20.15
ATR (TBRRE)  1.05x7.10 - 7.4
5t = 11166 111.66
L
4+ 19297
yrasmmeasT PRPO200 41 5 mpse) AT R (£ BRRE) 2310 m
presmsizaar B2.0N o s GemER) AT X (£ BRE) 2310 m
T H2
LEZRT 20 R G TR (B 2310 m
Im&-YDEE 4 35kg
M:n‘/\
&) PRPG200 16 90 4. 35 = 552.02  552.02 kg
1245
Wh-MEET 1| TIX (7-5-3-W4) 1.00 @&
U L Sk
BEMEE L #5EEY 0.55
ERFE
Uik—IILERE g _
AR . 1.00 @&
SHEEHER IOV 1.30 mn
. X BiE
SHEEHER IOV Semt] R I 9 17 ﬂﬂ
BEILZIL t=10mm 0.003 1
s )— K & B
QLB — k EEEEY oos | m
Eid s
B mEGHEEY 006 |
= WS
A WEE L Sy oos | m
ST
ZEH  y=(5em 420 m
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X
THREELIE  1.10m & A
EHEEE 1.11m
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BETHEA \
‘ NN
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L
BEEY & {2 (PRP ¢ 200)
600
i Al B % B g = HA| H 8
Rl 1.00 % 2 m 2.00
SHEEEEL 0.60+(1.11-0.05) X 0.2 m? 0.81
EL AL 4> t=50mm 0.81 X 0.05 m° 0.04
1R Hl (0.60+0.81) X (1.11-0.05) X 1/2-0.206 X 0.206 X 7 X 1/4 m° 0.71
EHRE PRP ¢ 200 m 1.00
BR RC-30 (0.60+(1.11-0.14) X 0.2+0.60) X (1.11-0.14) X 1/2 m° 0.68
PBEET t=100mm m? 0.81
®EI t=40mm m? 0.81
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BEEY & {2 (PRP ¢ 200)
600
i Al B % B g = HA| H 8

Rl 1.00 % 2 m 2.00
SHEEEEL 0.60+(1.21-0.05) X 0.2 m? 0.83
EL AL 4> t=50mm 0.83 X 0.05 m° 0.04
1R Hl (0.60+0.83) X (1.21-0.05) X 1/2-0.206 X 0.206 X 7 X 1/4 m° 0.80
EHRE PRP ¢ 200 m 1.00
BR RC-30 (0.60+(1.21-0.14) X 0.2+0.60) X (1.21-0.14) X 1/2 m° 0.76
PBEET t=100mm m? 0.83
®EI t=40mm m? 0.83
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TREBIYEHIE  1.60m #ﬁ
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A
BEFHREA
i !
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2 AEH :
ame | _
BEH Ay ‘\ }v\ =
BEER B s (PRP ¢ 200)
Al B % B g = HA| H 8
Rl 1.00 % 2 m 2.00
SHERUEL m? 1.05
ERALSY t=50mm 1.05 % 0.05 m° 0.05
1R Hl 1.05 X (1.55-0.05)-0.206 X 0.206 X 7 X 1/4 m° 1.54
EHRE PRP ¢ 200 m 1.00
BR RC-30 1.05 % (1.55-0.14) m? 148
@aeT t=100mm m? 1.05
®EI t=40mm m? 1.05
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X
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B
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‘ NN
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BEEY & {2 (PRP ¢ 200)
600
i Al B % B g = HA| H 8

Rl 1.00 % 2 m 2.00
SHEEEEL 0.60+(1.30-0.05) X 0.2 m? 0.85
EL AL 4> t=50mm 0.85 X 0.05 m° 0.04
1R Hl (0.60+0.85) X (1.30-0.05) X 1/2-0.206 X 0.206 X 7 X 1/4 m° 0.87
EHRE PRP ¢ 200 m 1.00
BR RC-30 (0.60+(1.30-0.14) x 0.2+0.60) X (1.30-0.14) X 1/2 m° 0.83
@aeT t=100mm m? 0.85
®ET t=40mm m? 0.85
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600
i Al B % B g = HA| H 8

Rl 1.00 % 2 m 2.00
SHEEEEL 0.60+(1.38-0.05) X 0.2 m? 0.87
EL AL 4> t=50mm 0.87 X 0.05 m° 0.04
1R Hl (0.60+0.87) X (1.38-0.05) X 1/2-0.206 X 0.206 X 7 X 1/4 m° 0.94
EHRE PRP ¢ 200 m 1.00
BR RC-30 (0.60+(1.38-0.14) x 0.2+0.60) X (1.38-0.14) X 1/2 m° 0.90
PBEET t=100mm m? 0.87
®EI t=40mm m? 0.87
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Rl 1.00 % 2 m 2.00
SHERUEL m? 1.05
ERALSY t=50mm 1.05 % 0.05 m° 0.05
1R Hl 1.05 X (1.53-0.05)-0.206 X 0.206 X 7 X 1/4 m° 1.52
EHRE PRP ¢ 200 m 1.00
BR RC-30 1.05 % (1.53-0.14) m? 1.46
@aeT t=100mm m? 1.05
®EI t=40mm m? 1.05
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FEELAIL (71 /4% 0.82%- 7 /4 X 0.60%) X 0.057 m° 0.01
HEYLY (71 /4% 0.82%- 71 /4 % 0.60) X 0.05 m® 0.01
fEE (7T /4% 0.82% 71 /4% 0.602)+( 7 /4 X 1.05°- 71 /4% 0.90%))/2%045 | m® 0.11
EEfTEE (7t /4% 1.05% 11 /4 % 0.90%) X 0.60 m? 0.14
L1 —ha B — 7T /4% 0.90%%0.27- 7 /4 X 0.20%/2 X 0.90 m° 0.16
EhRaro)—k T/4%110°%0.13 m3 012
HEERIEL |SEmEEY 5t om 0.55
TUR—IVEBE | senEcoms BEAT 1.00
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T M B H B ZE 1.0 Y No. 1
4% MmO B % i ' K # B2 HBHu B E
HEEER
Jowy 1.30 1.30 | m
HEEER Bi&
Jowv4y  |5emITHEE 1.67x1.30 2.17 | {&
BEJLAZIL | t=10mm 0.002x1.30 0.003 m®
avH ) — b EFEEY 0.03x1.30 0.04 m
pily EHEEY 0.20%x1.30 0.26  m
HEEE L EHEEY 0.06%1.30 0.08 m
SRET
R Ef#R W=15cm 4.20 420 | m
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avs)—k | EFEEY 0.305%0.10 m° 0.03

Eidg o ST 0.10% 2 m? 0.20
BEYREL (EHEEY (0.027+0.205 x 0.01+0.305 X 0.10) X 1.00 m° 0.06
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